aATotal Healthy vs Patient

Group Statistics

N Mean Std. Deviation Std. Error Mean
Healthy 100 2.0372 .18336 .01825
Type
Patient 50 2.0130 .28586 .04043
Independent Samples Test
L s\'/res_t for Equality of t-test for Equality of Means
ariances
g 95% Confidence Interval of
: A (Bt Mean Std. Error the Difference
a =) t e =g, (HENER) Difference Difference
Lower Upper
Equal
variances 16.424 .000 .630 149 .530 .02423 .03845 -.05175 .10020
assumed
Equal
variances not .546 69.580 .587 .02423 .04435 -.06424 11270
assumed
Healthy Males vs Patient Males
Group Statistics
N Mean Std. Deviation Std. Error Mean
Healthy 37 2.0322 .19208 .03158
Type
Patient 27 2.0519 22424 .04316
Independent Samples Test
LEEnEE Tes_t 2 S t-test for Equality of Means
Variances
’ 95% Confidence Interval of
: A Pt Mean Std. Error the Difference
g =) t i i, (e Difference Difference
Lower Upper
Equal
variances .578 450 -.377 62 .707 -.01969 .05219 -.12401 .08463
assumed
Equal
variances not -.368 50.781 714 -.01969 .05347 -.12706 .08768
assumed




